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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$
g~go D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$s H$moS> g§»¶m 69/SS/A, goQ u {bI|&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘|
CÎma Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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TOURISM
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(337)

Time : 3 Hours ] [ Maximum Marks : 100

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 100

Note  : (i) There are 53 questions in all divided into three parts.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Section–A consists of—

(a) Q. Nos. 1 to 16–Multiple Choice type questions (MCQs) carrying 1 mark each.

Select and write the most appropriate option out of the four options given in

each of these questions.

(b) Q. Nos. 17 to 30–Objective type questions carrying 2 marks each (with 2 sub-

parts of 1 mark each). Attempt these questions as per the instructions given

for each of the questions.

(v) Section–B consists of—

(a) Q. Nos. 31 to 40–Very Short Answer type questions carrying 2 marks each to

be answered in the range of 30 to 50 words. An internal choice has been

provided in some of these questions. You have to  attempt only one of the given

choices in such questions.

(b) Q. Nos. 41 to 44–Short Answer type questions carrying 3 marks each to be

answered in the range of 50 to 80 words. An internal choice has been provided

in some of these questions. You have to  attempt only one of the given choices

in such questions.

(c) Q. Nos. 45 and 46 are Long Answer type questions carrying 6 marks each to

be answered in the range of 80 to 120 words.

(vi) Section–C consists of—

(a) Q. Nos. 47 to 50–Multiple choice type questions (MCQs) carrying 1 mark each.

And Question No. 51 Objective type question carrying 2 marks.

(b) Q. Nos. 52 and 53 are Short Answer Type Questions carrying 3 marks each to

be answered in the range of 50 to 80 words.

(vii) Questions have to be attempted either from Optional Module—I or Optional

Module—II.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 53 àíZ h¢, Omo VrZ ^mJm| ‘| {d^m{OV h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¢&

(iv) IÊS>-H$

(a) àíZ g§»¶m 1 go 16 VH$ ~hþ{dH$ënr¶ àíZ h¢, {OZ‘| àË¶oH$ àíZ 1 A§H$ H$m h¡& àË¶oH$ àíZ ‘| {XE JE Mma

{dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&
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(b) àíZ g§»¶m 17 go 30 VH$ dñVw{Zð> àH$ma Ho$ àíZ h¢, {OZ‘o§ àË¶oH$ àíZ 2 A§H$ H$m h¡ (1 A§H$ Ho$
2 Cn-^mJm| Ho$ gmW)& àË¶oH$ àíZ Ho$ {bE {XE JE {ZX}em| Ho$ AZwgma BZ àíZm| Ho$ CÎma X|&

(v) IÊS>-I
(a) àíZ g§»¶m 31 go 40, 2 A§H$ Ho$ A{V bKyÎmar¶ àH$ma Ho$ àíZ h¡§, {OZHo$ CÎma 30 go 50 eãXm| ‘|

XoZo h¢& BZ‘| go Hw$N> àíZm| ‘| AmÝV[aH$ {dH$ën àXmZ {H$¶m J¶m h¡& Eogo àíZm| ‘| AmnH$mo Ho$db EH$ {dH$ën
H$m hr CÎma {bIZm h¡&

(b) àíZ g§»¶m 41 go 44, 3 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ h¡§, {OZHo$ CÎma 50 go 80 eãXm| ‘|
XoZo h¢& BZ‘| go Hw$N> àíZm| ‘| AmÝV[aH$ {dH$ën àXmZ {H$¶m J¶m h¡& Eogo àíZm| ‘| AmnH$mo Ho$db EH$ {dH$ën
H$m hr CÎma {bIZm h¡&

(c) àíZ g§»¶m 45 Am¡a 46 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 6 A§H$ H$m h¡ {OZHo$ CÎma 80 go 120 eãXm|
‘| XoZo h¢&

(vi) IÊS>-J
(a) àíZ g§»¶m 47 go 50, 1 A§H$ Ho$ ~hþ{dH$ënr¶ àíZ h¢& àíZ g§»¶m 51 dñVw{Zð> àH$ma H$m àíZ h¡, Omo 2 A§H$

H$m h¡&
(b) àíZ g§»¶m 52 Ed§ 53, 3 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ h¢, {OZHo$ CÎma 50 go 80 eãXm| ‘|

XoZo h¢&
(vii) {XE JE d¡H$pënH$ ‘m°S²>¶yb–I Am¡a d¡oH$pënH$ ‘m°S²>¶yb-II ‘| go Ho$db EH$ {dH$ën H$m hr CÎma XoZm h¡&

SECTION—A

IÊS>–H$

Choose the most appropriate option out of the four options given below : 1×16=16

{XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$s{OE …

1. Which one of the following is a positive socio-cultural impact of tourism? 1

(A) It reduces the bonding of family structure

(B) Erosion of local language and dialect

(C) It reinforces the concept of nuclear family

(D) Through exchange of ideas and traditions people develop mutual
sympathy and understanding towards each other

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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{ZåZ{b{IV ‘| go H$m¡Z-gm EH$ n¶©Q>Z H$m gH$mamË‘H$ gm‘m{OH$-gm§ñH¥${VH$ à^md h¡?

(A) nm[adm[aH$ g§aMZm Ho$ ~§YZ H$mo H$‘ H$aVm h¡

(B) ñWmZr¶ ^mfm Am¡a ~mobr AnZr ewÕVm¶wº$ nhMmZ Imo ahr h¡

(C) ¶h EH$mH$s n[adma H$s ‘mÝ¶Vm H$mo ~b XoVm h¡

(D) {dMmam| Ed§ na§namAm| Ho$ {d{Z‘¶ Ho$ H$maU bmoJ EH$-Xÿgao Ho$ à{V nañna ghmZw^y{V Am¡a g‘P
{dH${gV H$aVo h¢

2. Which one of the following is not a positive environmental impact of

tourism? 1

(A) Cleanliness drive is taken up to attract more and more tourists

(B) Greater environmental protective measures are adopted

(C) Landslides are widespread in such areas because of human

intervention

(D) Ecological balance maintenance becomes an important objective to

preserve the ecosystem

{ZåZ{b{IV ‘| go H$m¡Z-gm EH$ n¶©Q>Z H$m gH$mamË‘H$ n¶m©daUr¶ à^md Zht h¡?

(A) g’$mB© A{^¶mZ A{YH$ go A{YH$ n¶©Q>H$m| H$mo AmH${f©V H$aZo Ho$ {bE g§Mm{bV {H$¶m OmVm h¡

(B) A{YH$ go A{YH$ n¶m©daUr¶ gwajmË‘H$ Cnm¶m| H$mo AnZm¶m OmVm h¡

(C) Eogo joÌm| ‘| ‘mZd hñVjon Ho$ H$maU ^yñIbZ {dñV¥V ê$n go XoIm OmVm h¡

(D) nm[apñW{VH$ g§VwbZ AZwajU nm[apñW{VH$s V§Ì H$s ajm H$aZo Ho$ {bE ‘hÎdnyU© CÔoí¶ ~Z OmVm h¡

3. Which one of the following statements about longitudes is not correct? 1

(A) It is an imaginary line which runs from North Pole to South Pole.

(B) It is distance in degrees east or west of the prime meridian.

(C) Points east of prime meridian are numbered from 0° to 180° west.

(D) All lines of longitude cut lines of latitude at 90° (right angle).

XoemÝVam| Ho$ {df¶ ‘| {ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ ghr Zht h¡?

(A) ¶h EH$ H$mën{ZH$ aoIm h¡ Omo CÎmar Y«wd go X{jUr Y«wd VH$ ItMr h¡&

(B) ¶h àYmZ ‘Ü¶m• aoIm go nyd© ¶m npíM‘ H$s Amoa Xÿar A§em| ‘| hmoVr h¡&

(C) àYmZ ‘Ü¶m• aoIm Ho$ nyd© ‘| 0° go 180° npíM‘r XoemÝVa Ho$ ê$n ‘| {JZo OmVo h¢&

(D) XoemÝVa H$s g^r aoImE± Ajm§e H$s aoImAm| H$mo 90° (g‘H$moU) na H$mQ>Vr h¢&
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4. If 360 degree is equal to 24 hours, then 30 degree will be equal to how

much? 1

(A) One hour (B) Two hours

(C) Three hours (D) Four hours

AJa 360 {S>J«r 24 KÊQ>o Ho$ ~am~a h¡, Vmo 30 {S>J«r {H$VZo Ho$ ~am~a hmoJm?

(A) EH$ KÊQ>m (B) Xmo KÊQ>o

(C) VrZ KÊQ>o (D) Mma KÊQ>o

5. Which cities are joined by Golden Triangle highway? 1

(A) Delhi, Agra and Jodhpur (B) Delhi, Agra and Udaipur

(C) Delhi, Jaipur and Jaisalmer (D) Delhi, Agra and Jaipur

ñd{U©‘ {Ì^wO {H$Z eham| H$mo Omo‹S>Vm h¡?

(A) {X„r, AmJam Am¡a OmoYnwa (B) {X„r, AmJam Am¡a CX¶nwa

(C) {X„r, O¶nwa Am¡a O¡gb‘oa (D) {X„r, AmJam Am¡a O¶nwa

6. What will happen if a tourist crosses International Date Line from west to

east? 1

(A) One day is reduced (B) One day is added

(C) No change (D) None of the above

AJa EH$ n¶©Q>H$ AÝVam©ï´>r¶ {V{W aoIm H$mo npíM‘ go nyd© H$s Amoa nma H$aVm h¡, Vmo ³¶m hmoJm?

(A) EH$ {XZ KQ> OmEJm (B) EH$ {XZ ~‹T> OmEJm

(C) H$moB© n[adV©Z Zht hmoJm (D) Cn¶w©º$ ‘| go H$moB© Zht

7. Who among the following was known as ‘Tuti-e-Hind’ (Parrot of India)? 1

(A) Tansen (B) Amir Khusrau

(C) Nayak Gopal (D) Haridas

{ZåZ{b{IV ‘| go {H$gH$mo "VyVr-E-{hÝX' (^maV H$m VmoVm) Ho$ ê$n ‘| OmZm OmVm Wm?

(A) VmZgoZ (B) A‘ra Iwgamo

(C) Zm¶H$ Jmonmb (D) h[aXmg
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8. On which occasion popular dance of Gujarat ‘Garba’ is performed? 1

(A) Navratri (B) Diwali

(C) Holi (D) Dussehra

JwOamV H$m bmoH${à¶ Z¥Ë¶ "Ja~m' {H$g Adga na {H$¶m OmVm h¡?

(A) Zdam{Ì (B) {Xdmbr

(C) hmobr (D) Xeham

9. At which one of the following places Buddha gave his first sermon? 1

(A) Kushinagar (B) Sarnath

(C) Gaya (D) Lumbini

{ZåZ{b{IV ñWmZm| ‘| go {H$g ñWmZ na ~wÕ Zo AnZm nhbm Y‘m}nXoe {X¶m Wm?

(A) Hw$erZJa (B) gmaZmW

(C) J¶m (D) bwpå~Zr

10. On which river Howrah Bridge is constructed? 1

(A) Ganga (B) Hooghly

(C) Kosi (D) Brahmaputra

hmd‹S>m {~«O {H$g ZXr na ~Zm¶m J¶m h¡?

(A) J§Jm (B) hþJbr

(C) H$mogr (D) ~«÷nwÌ

11. Which one of the following sacred places is considered home of Lord

Vishnu? 1

(A) Amarnath (B) Somnath

(C) Badrinath (D) Rameswaram

{ZåZ{b{IV n{dÌ ñWmZm| ‘| go H$m¡Z-gm ^JdmZ {dîUw H$m {Zdmg ñWmZ ‘mZm OmVm h¡?

(A) A‘aZmW (B) gmo‘ZmW

(C) ~ÐrZmW (D) am‘oída‘
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12. Mount Parsvanatha is a religious heritage site for which one of the

following? 1

(A) Hindus (B) Buddhist

(C) Jains (D) Sikhs

‘mC§Q> nmíd©ZmW {ZåZ{b{IV ‘| go {H$g Y‘© H$m EH$ Ym{‘©H$ {damgV ñWb h¡?

(A) {hÝXÿ (B) ~m¡Õ

(C) O¡Z (D) {g³I

13. Which one of the following places is the birthplace of Guru Nanak? 1

(A) Hemkund Sahib (B) Patna Sahib

(C) Nankana Sahib (D) Paonta Sahib

{ZåZ{b{IV ñWmZm| ‘| go H$m¡Z-gm Jwé ZmZH$ H$m OÝ‘ñWmZ h¡?

(A) ho‘Hw$ÊS> gm{h~ (B) nQ>Zm gm{h~

(C) ZZH$mZm gm{h~ (D) nmC±Q>m gm{h~

14. Which one of the following was the residence of Buddhist Monks? 1

(A) Gurukul (B) Vihara

(C) Griha (D) Parvat

BZ‘| go H$m¡Z-gm ñWmZ ~m¡Õ {^jwAm| H$m {Zdmg ñWmZ Wm?

(A) JwéHw$b (B) {dhma

(C) J¥h (D) nd©V

15. Which one of the following States had the highest number of foreign

tourists visiting in 2014? 1

(A) Maharashtra (B) Rajasthan

(C) Kerala (D) Tamil Nadu

2014 ‘| {ZåZ{b{IV ‘| go {H$g amÁ¶ ‘| {dXoer n¶©Q>H$m| H$s g§»¶m gdm©{YH$ Wr?

(A) ‘hmamï´> (B) amOñWmZ

(C) Ho$ab (D) V{‘bZmSw>
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16. Which of the following points help in delivering a good speech? 1

(A) Convey the required information

(B) Use short and simple words

(C) Smile if it comes naturally

(D) During the presentation spoke anxiously without making eye contact.

EH$ AÀN>m ^mfU XoZo ‘| {ZåZ{b{IV ‘| go H$m¡Z-gm {~ÝXþ ghm¶Vm H$aVm h¡?

(A) dm§{N>V gyMZm XoZr h¡

(B) N>moQ>o VWm gab eãXm| H$m à¶moJ H$a|

(C) ¶{X àmH¥${VH$ Vm¡a na ‘wñH$amhQ> AmE Vmo ‘wñH$amE±

(D) àñVw{VH$aU Ho$ Xm¡amZ qMVm¶wº$ {~Zm ZµOa {‘bmE ~mob|o

17. Identify the given statements as True or False : 1×2=2

(a) All lines of longitude cut lines of latitude at 90° (right angle).

(b) Canada has three time zones.

{XE JE H$WZm| H$s gË¶ ¶m AgË¶ Ho$ ê$n ‘| nhMmZ H$s{OE :

(H$) XoemÝVa H$s g^r aoImE± Ajm§e H$s aoImAm| H$mo 90° (g‘H$moU) na H$mQ>Vr h¢&

(I) H$ZmS>m ‘| VrZ g‘¶ joÌ h¢&

18. Answer in one word or two words : 1×2=2

(a) Which two cities are joined by North-South corridor?

(b) Which mode of transport has helped in promoting tourism?

EH$ ¶m Xmo eãXm| ‘| CÎma Xr{OE …

(H$) CÎma-X{jU J{b¶mam {H$Z Xmo eham| H$mo Omo‹S>Vm h¡?

(I) n¶©Q>Z H$mo ~‹T>mdm XoZo ‘| {H$g àH$ma Ho$ n[adhZ Zo ‘XX H$s h¡?
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19. Fill in the blanks : 1×2=2

(a) Nagaswaram is a unique musical instrument of _____.

(b) Ustad Amzad Ali Khan is a famous _____.

[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) ZmJñda‘ _____ H$m AZmoIm dmÚ¶§Ì h¡&

(I) CñVmX A‘OX Abr ImZ à{gÕ _____ h¢&

20. Match the Column—A with Column—B : 1×2=2

Column—A Column—B

(a) Tabla (i) Ustad Bismillah Khan

(b) Shehnai (ii) Ustad Zakir Hussain

(iii) Ustad Amzad Ali Khan

(iv) Ustad Pyare Khan

ñVå^—A H$m {‘bmZ ñVå^—~ go H$s{OE …

ñVå^>—A ñVå^—~

(a) V~bm (i) CñVmX {~g{‘„mh ImZ

(b) ehZmB© (ii) CñVmX Om{H$a hþg¡Z

(iii) CñVmX A‘OX Abr ImZ

(iv) CñVmX ß¶mao ImZ

21. Fill in the blanks : 1×2=2

(a) The only temple dedicated to Lord Brahma is situated in _____.

(b) _____ temple is located in the mighty Trikuta Mountains.

[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) ~«÷mOr H$mo g‘{n©V EH$‘mÌ ‘pÝXa _____ ‘| pñWV h¡&

(I) _____ H$m ‘pÝXa ‘hmZ {ÌHw$Q>m nd©Vm| ‘| pñWV h¡&
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22. Fill in the blanks : 1×2=2

(a) Prophet Muhammad got prophethood at the age of _____ in the year
610 AD.

(b) The Hijri era started in the year _____.

[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) n¡Jå~a ‘mohå‘X H$mo df© 610 B©ñdr ‘| _____ df© H$s Am¶w ‘| n¡Jå~ar àmá hþB©&

(I) {hOar ¶wJ H$s ewéAmV df© _____ ‘| hþB© Wr&

23. Identify the given statements as True or False : 1×2=2

(a) Brajbhoomi is associated with the God Ram.

(b) Buddha gave his first sermon at Lumbini.

{XE JE H$WZm| H$s gË¶ ¶m AgË¶ Ho$ ê$n ‘| nhMmZ H$s{OE …

(H$) ~«O^y{‘ H$m gå~ÝY ^JdmZ am‘ go h¡&

(I) ~wÕ Zo AnZm nhbm Y‘m}nXoe bwpå~Zr ‘| {X¶m Wm&

24. Fill in the blanks : 1×2=2

(a) _____ situated in Nilgiri Hills is a very famous hill station of South
India.

(b) The geographical _____ makes India a good place for adventurous

tourism.

[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) Zrb{Jar nhm{‹S>¶m| ‘| pñWV _____ X{jU ^maV H$m EH$ à{gÕ nhm‹S>r joÌ h¡&

(I) ^m¡Jmo{bH$ _____ ^maV H$mo gmh{gH$ n¶©Q>Z Ho$ {bE EH$ AÀN>m ñWmZ àXmZ H$aVr h¡&
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25. Identify the given statements as True or False : 1×2=2

(a) Foreign tourist arrivals in India are continuously decreasing.

(b) Tourism is a smokeless industry with a unique quality of earning
foreign exchange.

{XE JE H$WZm| H$s gË¶ ¶m AgË¶ Ho$ ê$n ‘| nhMmZ H$s{OE …

(H$) ^maV ‘| {dXoer n¶©Q>H$m| H$m AmJ‘Z bJmVma H$‘ hmo ahm h¡&

(I) n¶©Q>Z EH$ YwAm±a{hV CÚmoJ h¡ {OgH$s {dXoer ‘wÐm H$‘mZo H$s AZmoIr {deofVm h¡&

26. Fill in the blanks : 1×2=2

(a) _____ is supposed to be the most favoured destination for tourist by
the year 2020.

(b) The ranking of India in world tourism improved from 38th position

(2011) to _____ in 2015.

[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) df© 2020 VH$ n¶©Q>H$m| Ho$ {bE _____ H$mo gdm©{YH$ bmoH${à¶ ñWb ‘mZm J¶m h¡&

(I) {díd n¶©Q>Z ‘| ^maV H$s a¢qH$J 2011 H$s 38dm± go 2015 ‘| _____ hmo J¶r&

27. Identify the given statements as True or False : 1×2=2

(a) India is a major tourist destination among the South Asian nations.

(b) Tourism in India has not grown substantially since the beginning of
1990.

{XE JE H$WZm| H$s gË¶ ¶m AgË¶ Ho$ ê$n ‘| nhMmZ H$s{OE …

(H$) X{jU E{e¶m¶r Xoem| ‘| ^maV EH$ à‘wI n¶©Q>H$ ñWb h¡&

(I) ^maV ‘| 1990 Ho$ XeH$ Ho$ àma§^ go hr n¶©Q>Z ‘| dñVwV… d¥{Õ Zht hþB© h¡&

28. Fill in the blanks : 1×2=2

(a) People who are sociable assertive and enjoy more frequent social
interaction are called _____.

(b) The tendency to experience unpleasant emotions easily such as anger,

anxiety and depression is called _____.
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[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) Omo bmoJ gm‘m{OH$ VWm AnZr ~mV IwbH$a H$aZo dmbo VWm H$m’$s gm‘m{OH$ ‘obOmob ngÝX
H$aVo h¢, _____ H$hbmVo h¢&

(I) ~war ¶m A{à¶ ^mdZmAm| O¡go Jwñgm, qMVm VWm {Zamem H$mo ^br^m±{V AZw^d H$aZo ¶m g±^mbZo
H$s j‘Vm go _____ H$m nVm MbVm h¡&

29. Identify the given statements as True or False : 1×2=2

(a) Marketing starts with the buyer and focuses on the needs of buyer.

(b) Marketing is a part of selling.

{XE JE H$WZm| H$s gË¶ ¶m AgË¶ Ho$ ê$n ‘| nhMmZ H$s{OE …

(H$) {dnUZ H«o$Vm go àma§^ hmoVm h¡ Am¡a H«o$Vm H$s Amdí¶H$VmAm| na Ho$pÝÐV hmoVm h¡&

(I) {dnUZ {dH«$¶ H$m EH$ {hñgm h¡&

30. Fill in the blanks : 1×2=2

(a) _____ is the latest and most effective in the advertising world.

(b) In the AIDAS model of promotion ‘S’ stands for _____.

[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) _____ {dkmnZ H$s Xþ{Z¶m ‘| {~ëHw$b Z¶m Am¡a A{YH$ à^mdembr h¡&

(I) {dH«$¶ àmoËgmhZ Ho$ ‘m°S>b AIDAS ‘| ‘S’ H$m AW© h¡ _____&

SECTION—B

IÊS>–I

31. Describe any two features of tourist map. 2

n¶©Q>H$ ‘mZ{MÌ H$s {H$Ýht Xmo {deofVmAm| H$m dU©Z H$s{OE&

Or / AWdm

Mention any two measures to boost tourism.

n¶©Q>Z H$mo ~‹T>mZo Ho$ {bE {H$Ýht Xmo Cnm¶m| H$m C„oI H$s{OE&
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32. Explain any two facilities provided by Bharat Darshan special train to the
tourist. 2

^maV Xe©Z ñnoeb Q´>oZ Ûmam n¶©Q>H$m| H$mo CnbãY H$am¶r OmZo dmbr {H$Ýht Xmo gw{dYmAm| H$mo ñnï> H$s{OE&

33. Describe any two characteristics of the musical instrument ‘Shehnai’. 2

g§JrV dmÚ¶§Ì "ehZmB©' H$s {H$Ýht Xmo {deofVmAm| H$m dU©Z H$s{OE&

Or / AWdm

Describe any two characteristics of the musical instrument ‘Sarangi’.

g§JrV dmÚ¶§Ì "gma§Jr' H$s {H$Ýht Xmo {deofVmAm| H$m dU©Z H$s{OE&

34. Write a short note on Carnatic music. 2

H$Zm©Q>H$ g§JrV na EH$ g§{já {Q>ßnUr {b{IE&

Or / AWdm

Write a short note on Indian theatre.

^maVr¶ a§J‘§M na EH$ g§{já {Q>ßnUr {b{IE&

35. Distinguish between ‘shadow puppet’ and ‘glove puppet’. 2

"naN>mB© H$R>nwVbr' Am¡a "XñVmZo dmbr H$R>nwVbr' ‘| AÝVa ñnï> H$s{OE&

36. Explain any two characteristics of rock-cut temples. 2

MÅ>mZ H$mQ>H$a ~ZmE JE ‘pÝXam| H$s {H$Ýht Xmo {deofVmAm| H$mo ñnï> H$s{OE&

37. Mention any two features of communication. 2

g§àofU Ho$ {H$Ýht Xmo bjUm| H$m C„oI H$s{OE&

Or / AWdm

Mention any two advantages of oral communication.

‘m¡{IH$ g§àofU Ho$ {H$Ýht Xmo bm^m| H$m C„oI H$s{OE&
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38. Explain any two objectives of meeting. 2

~¡R>H$ Ho$ {H$Ýht Xmo CÔoí¶m| H$mo ñnï> H$s{OE&

Or / AWdm

Explain agreeableness as a personality trait.

ñdrH$m¶©Vm H$mo EH$ ì¶{º$Ëd Ho$ bjU Ho$ ê$n ‘| ñnï> H$s{OE&

39. Examine any two disadvantages of written communication. 2

{b{IV g§àofU H$s {H$Ýht Xmo hm{Z¶m| H$s naI H$s{OE&

40. Elucidate the four stages of team development. 2

Q>r‘ {dH$mg Ho$ Mma MaUm| H$mo ñnï> H$s{OE&

41. Describe any three features of trekking route map. 3

Q´>oqH$J ‘mJ© ‘mZ{MÌ Ho$ {H$Ýht VrZ bjUm| H$m dU©Z H$s{OE&

Or / AWdm

Describe any three characteristics of road transportation.

g‹S>H$ n[adhZ H$s {H$Ýht VrZ {deofVmAm| H$m dU©Z H$s{OE&

42. Analyze the role of railways in tourism development in India. 3

^maV ‘| n¶©Q>Z Ho$ {dH$mg ‘| aobdo H$s ^y{‘H$m H$m {díbofU H$s{OE&

Or / AWdm

Explain the concept of sustainable tourism in three points.

ñWm¶r n¶©Q>Z H$s AdYmaUm H$s VrZ {~ÝXþAm| ‘| ì¶m»¶m H$s{OE&

43. Explain any three features of health tourism. 3

ñdmñÏ¶ n¶©Q>Z Ho$ {H$Ýht VrZ bjUm| H$s ì¶m»¶m H$s{OE&
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Or / AWdm

Explain any three attractions for the tourists at destination in the world.

{díd ‘| ^«‘U ñWbm| na n¶©Q>H$m| Ho$ {bE {H$Ýht VrZ AmH$f©Um| H$s ì¶m»¶m H$s{OE&

44. Explain any three points of significance of Shravanabelgola as a holy place

for Jains. 3

O¡{Z¶m| Ho$ n{dÌ ñWmZ Ho$ ê$n ‘| ldU~obJmobm Ho$ ‘hÎd Ho$ {H$Ýht VrZ {~ÝXþAm| H$s ì¶m»¶m H$s{OE&

45. Write an essay on the life and teachings of Vardhamana Mahavir. 6

dY©‘mZ ‘hmdra Ho$ OrdZ Am¡a {ejmAm| na EH$ {Z~ÝY {b{IE&

Or / AWdm

Write an essay on the life and teachings of Guru Nanak.

Jwé ZmZH$ Ho$ OrdZ Am¡a {ejmAm| na EH$ {Z~ÝY {b{IE&

46. Explain any six factors affecting tourism in the world. 6

{díd ‘| n¶©Q>Z H$mo à^m{dV H$aZo dmbo {H$Ýht N>… H$maH$m| H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain any six points of emerging dimension of Indian tourism.

^maVr¶ n¶©Q>Z Ho$ C^aVo Am¶m‘ Ho$ {H$Ýht N>… {~ÝXþAm| H$mo ñnï> H$s{OE&

SECTION—C

IÊS>–J

Optional Module—I (Travel and Tour Operation Business)

d¡H$pënH$ ‘m°S²>¶yb—I (¶mÌm Ed§ n¶©Q>Z g§MmbZ ì¶dgm¶)

47. Which one of the following was the first organized travel agent in the world? 1

(A) Jeena Tours and Travels (B) Lee and Muirhead

(C) Thomas Cook (D) TAAI
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{díd H$m nhbm ì¶dpñWV ¶mÌm EO|Q> {ZåZ{b{IV ‘| go H$m¡Z Wm?

(A) OrZm Qy>g© EoÊS> Q´>¡dëg (B) br EoÊS> å¶yahoS>

(C) Wm°‘g Hw$H$ (D) Q>r0E0E0AmB0

48. Which one of the following tour operators handles domestic tourists

travelling to foreign countries? 1

(A) Inbound tour operator (B) Outbound tour operator

(C) Domestic tour operator (D) Ground operator

{dXoe H$s ¶mÌm na OmZo dmbo Kaoby n¶©Q>H$m| H$m à~ÝY {ZåZ{b{IV ‘| go H$m¡Z-gm ¶mÌm g§MmbH$
H$aVm h¡?

(A) A§VJm©‘r ¶mÌm g§MmbH$ (B) ~{hJm©‘r ¶mÌm g§MmbH$

(C) Kaoby ¶mÌm g§MmbH$ (D) ñWbr¶ g§MmbH$

49. I plan sightseeing tours and excursion tours, airport transfer, check-in and

check-out time in the hotel. Who am I among the following? 1

(A) Tour operator (B) Wholesale travel agency

(C) Retail travel agency (D) Online travel agency

‘¢ Ñí¶mdbmoH$Z n¶©Q>Z VWm ^«‘U n¶©Q>Z, hdmB© AÈ>m go ñWmZmÝVaU, hmoQ>b ‘| AmJ‘Z VWm hmoQ>b
N>mo‹S>Zo Ho$ g‘¶ H$s ¶moOZm ~ZmVm hÿ±& {ZåZ{b{IV ‘| go ‘¢ H$m¡Z hÿ±?

(A) ¶mÌm g§MmbH$ (B) WmoH$ ¶mÌm EO|gr

(C) IwXam ¶mÌm EO|gr (D) Am°ZbmBZ ¶mÌm EO|gr

50. When was a separate Ministry of Tourism and Civil Aviation created in

India? 1

(A) 1957 (B) 1967

(C) 1977 (D) 1987

^maV ‘| n¥WH²$ n¶©Q>Z Am¡a ZmJa {d‘mZZ ‘§Ìmb¶ H$s ñWmnZm H$~ hþB© Wr?

(A) 1957 (B) 1967

(C) 1977 (D) 1987
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51. Fill in the blanks : 1×2=2

(a) Tourist expects that tour to be organized as per the _____ mentioned
in the tour package.

(b) Railneer bottle water is a product of _____.

[aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) n¶©Q>H$ Anojm H$aVm h¡ {H$ ¶mÌm H$mo Cgr Vah go g§Mm{bV {H$¶m OmE O¡gm {H$ Cgo n¡Ho$O IarXVo
g‘¶ _____ Ho$ AÝVJ©V ~Vm¶m J¶m Wm&

(I) ~moVb H$m nmZr aobZra _____ H$m CËnmX h¡&

52. Explain any three functions of travel agency. 3

¶mÌm EO|gr Ho$ {H$Ýht VrZ H$m¶m] H$s ì¶m»¶m H$s{OE&

53. Distinguish between retail travel agency and wholesale travel agency with
example. 3

IwXam ¶mÌm EO|gr Am¡a WmoH$ ¶mÌm EO|gr ‘| CXmhaU g{hV AÝVa ñnï> H$s{OE&

Optional Module—II (Hospitality Management)

d¡H$pënH$ ‘m°S²>¶yb—II (Am{VÏ¶ à~ÝYZ)

47. On the basis of location, which one of these hotels is located far away

from the city in forests, beach areas or hill stations? 1

(A) Downtown hotel (B) Suburban hotel

(C) Airport hotel (D) Resort hotel

AdpñW{V Ho$ AmYma na BZ‘| go H$m¡Z-gm hmoQ>b eha go Xÿa O§Jbm|, g‘wÐr VQ>m| ¶m nhm‹S>r joÌm| ‘|
pñWV hmoVm h¡?

(A) eha Ho$ {ZH$Q> ì¶mdgm{¶H$ hmoQ>b (B) AÕ©ehar hmoQ>b

(C) hdmB© AÈ>m| na hmoQ>b (D) [aµOm°Q>© hmoQ>b
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48. Which are the three important components of tourism industry? 1

(A) Appeal, accessibility and accommodation

(B) Attraction, availability and accommodation

(C) Attraction, accessibility and accommodation

(D) Appeal, availability and accommodation

n¶©Q>Z CÚmoJ Ho$ VrZ ‘hÎdnyU© KQ>H$ H$m¡Z-go h¢?
(A) Anrb, nhþ±M Am¡a Amdmg (B) AmH$f©U, CnbãYVm Am¡a Amdmg
(C) AmH$f©U, nhþ±M Am¡a Amdmg (D) Anrb, CnbãYVm Am¡a Amdmg

49. Which one of the following is not a main function of front office in a hotel? 1

(A) To take advance booking for rooms

(B) To handle the phone calls of hotel

(C) To provide food to the staff of hotel

(D) To assign a room to the guest

{ZåZ{b{IV ‘| go H$m¡Z-gm hmoQ>b Ho$ ’«§$Q> Am°{’$g H$m EH$ ‘w»¶ H$m¶© Zht h¡?
(A) H$‘am| Ho$ {bE A{J«‘ ~wqH$J boZm
(B) hmoQ>b H$s ’$moZ H$m°ëg H$mo gwZZm
(C) hmoQ>b Ho$ H$‘©Mm[a¶m| H$mo ^moOZ CnbãY H$amZm
(D) A{V{W¶m| H$mo H$‘ao XoZm

50. Which one of these is a popular Hyderabadi cuisine? 1

(A) Mirchi ka salan (B) Dal Makhni

(C) Butter chicken (D) Khichu

{ZåZ{b{IV ‘| go H$m¡Z-gm h¡Xam~mX H$m bmoH${à¶ ì¶§OZ h¡?

(A) {‘Mu H$m gmbZ (B) Xmb ‘IZr

(C) ~Q>a {MHo$Z (D) IrMy

51. Identify the given statements as True or False : 1×2=2

(a) Thai food is light and the herbs and spices used as common
ingredients have medicinal value.

(b) Hotels operate twenty four hours a day for five days a week.



{XE JE H$WZm| H$s gË¶ ¶m AgË¶ Ho$ ê$n ‘| nhMmZ H$s{OE …

(H$) WmB© ^moOZ hëHo$ Am¡a gm‘mÝ¶ ê$n go à¶moJ hmoZo dmbr gm‘J«r O¡go O‹S>r-~yQ>r VWm ‘gmbm| go
V¡¶ma Am¡fYr¶ {deofVmE± {bE hþE hmoVr h¢&

(I) hmoQ>b {XZ ‘| 24 KÊQ>o Am¡a gámh ‘| nm±M {XZ g§Mm{bV hmoVo h¢&

52. Explain any three expectations of guests during their arrival at the hotel. 3

hmoQ>b ‘| AmJ‘Z Ho$ g‘¶ A{V{W¶m| H$s {H$Ýht VrZ AnojmAm| H$mo ñnï> H$s{OE&

53. Distinguish between ‘Bell desk’ and ‘Concierge’ in a hotel with example. 3

{H$gr hmoQ>b ‘| "~ob S>oñH$' Am¡a "H§$grO©' (Xa~mZ) Ho$ ~rM CXmhaU g{hV AÝVa ñnï> H$s{OE&


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